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Various types of questions are included. Enter only the appro-
priate answer in the space provided on the Answer Shest,

Two Gunter chains will exactly equal meters.

4 steel tape that is shorter then the reguired standard
will induce -z repeating error that is N
,f\\l 5‘:’
. . . = ‘y
& closed contour line which is hachured as shown o A
is used to represent a - :7 =

f

Tha appavent altitude of the star Polaris, when measured
from the howizon, 1s equal to whai general position of
the observer?

The generally accepted value in the United States for the
standardizaticn of steel tapes is 68F. 1In order to cor-
rect for temperature differentials from this value, the

coefficient of expansicn appiied to steel tapes is usually
taken as .

On a topographic map, the contour interval is

(&) the horizontal distance betwsen adjacent
contours

{B) <the scaled dimension between adjacent contour
lines

(C) a measure of the elevation above mean sea
level

{(B) the difference in elevation between adjacent
contours

(E) & variable that will be explained in the legend

A topographic map was drawn to a scale of 1M = 200 feet. AL
a given location, the contcur lines were measured as 3/8"
apart. The contour intervael for the map was given as 10 feet.

The ground slope at the location is equal to per cent.

3
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ri
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on
on

by Che arc messured from the geo-
estzblished by the msgnetic needlie

o

i2° 34'FE., The interior
int G ig 69° 47Y. The
fsantonpoelntiE 1s 127° 0§F,

iG. the magnets i oz
mﬂghetﬁc d nation was
55, when une magnetic dac-
tic bearing of the line
11. The sun crosses the celestial ecuator on its gpparent dowaward
movenent along the ecliiptlc on September 2] or 22, What is the
name cf the pogition?
iz. minutes (to the
i3, ticnship te GOT?
iz, the answer space the value of 1 radian in terms of the
the number of degrees zud such other symboles that are
used.

i5. A pantograph ig an instrument that is generally used

{A) in place of & beam cowpass
(B} &s an attachment to a gecdimeter

ice for direct reading of stadia

DY o reduce or enlarge the zcale of an existing ma
[ (=]

{E) toc mzasure the area of a cross sacticn



16.

17.

18,

Vhen prelonging a survey line with a transit, the process of
double centering is usually done to nullify the error caused by

(8)

(CJ

(D)

the incidence of parzlilax caused by the
f server et the eyeplece

movemant ¢of the ob

Cae vertical cross hair not being per-
pendicular te the horizontel axis
the line ¢f signh parallel to

the line of sight not being perpendicular
to the horizontal axis

Tha shape of the vertical curve as used ia profile adjustment for
highweys end reilroads will follow most closely the shape of the

(3

o

(&
(B

~
)

~~
[¢]
LSS W W

~
&)

7

230007

ne representativ
1

geomaetric figure known as

& parabola

a catenary

& cycloid

& circular ssguent

an eliliptical segment

n in the legend as

1{*]
1
ry
0
0
r
’-l
8]
ol
Q
Ft
o
i
M
e
=
3]
o
0
hs
<
0]

4 distance was scaled as 1%% on this map. This scaled

dimension would represent meters on the ground.

The degree of curvature for a circular highway curve is

(&)

(B)
(<)

(D)
(2

ection angle “vom the PC
ion on the cuuve

an angle subtended by a chord of 100 feet

to the central angle in degrees divided

an angle subtended by zn arc of 100 feet

equal fo the intersection angle E:divided
by the length of curve
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Regular township corners on public land surveys are placed at inter-
vals of chains, ‘

iegtial meridian

rh
=
]
(o]
[
Py

E} an isogonic line through this place

ntative fraction for a map which has a scale
£

standard time a ferential
to degrees of

& commercial lot was determined to be shaped in the form of a2
trapezcid with bases of 29 Zzet and 19 feet. The distance between
bases iz 8 feet. What i1s the total area in square feet?

& land parcel, which is rectanguler in outline, was measurad to be
10 chainsg 55 liiaks by 12 chains & links. The area of this parcel
5

The problem of chromatic eberration in a lens system may be almost
eliminated by

{D) wusing a combination of crown glass and
£lint glass

ot

(E) using a series of coler filters



27. When a magnetic compass is vsed to run survey lines
(4)  the direction of the needle can be predicted
within 5 minutes of arc
(B) the northern polarity refers to the earth's
magnetic pole
(€) the dip will be at right angles to the meridian
(B}  the east and west symbols are reversed in their
respective positiocns on the plate
(E} the strike will be at right angles to the base
line
28. VWhen 2 mass d’a““aﬁ is used to represant volumes of earthwork,
the descending part of the curve will indicate
(4) excavation
s 1 . -
(3} embankment
{C) <Zree heul in advance of the station
{D} free haul to the rear of the station
(£) & change in the profile grade
2%. A slope stake is generally set to mark on the ground
(4) the intersection of the side slope and
the natural zround
(B) =& critical point of change near the middle
of a cross section
(C)  the point where the profile grade intersects
the ground surface
(D) & point on the center line where the grade
changes
(£} the point which marks the limit of the
superrelevation
3. An aw 1lla:y scale which iies adjacent to the main scale of &

(%8
i
jul
o
L
o

plate,

and which provides the capalllity to subdivide the
of the marked graduations is called 2 -

declination scale

{(Dj
(B>

Bezman arc
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a grant deed
= o]
& quit ciaim degd

the escrow holder is usually

Texes, cssessments, and iiens upon real property are genera.ly
callec
(&) extrinsic evidence

4An isogonic chart is used primarily to show

of egual magnetic declination

azimuth f£rom due South

Jor
P
o]
{it
i
Q
Ha

]

Kol
[
3]
M

true meridians
iines of loczl megnetic attraction

geographical boundovias of political
subdivisions



1

35. The azimuth of a survey line

{&) 1is alweys reckoned Ffrom South
(B) may have any value between 0° and 450°

(<)

5 always measured in a counterclockwise

scale with the lesst 1
Standerd graduation s jS
£ C%au can be plot

{(3)

(cy the
(D}

(E) ry map into another of

38. 1If it is desired to maintain pl Tting errors within the nearest
20 feet on a map where a standard engineer’s &ecale is used, the
smallest scale of the map should be 19 = feet.

39. VWhen working with topographic maps, the process of interpolation

fl“_i

consists of

(&) connecting points of equal elevation

(B) trecing the contour lines on the map

(C) drawing in freshand smooth contour lines
=]

(D) comnecting the redizl azimuths that originate

(£} spacing contour lines by proportionate distance
measurement
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1 work done in the western part of the United
lar compess. This compass

&
Q= - 3 - I -~
otates mede use ¢f the 3o

¥
(E) surveys

to esteblish boundaries for
mining claims on public lands

When the regular corpers of a land tract happen te fall in water,
an open traverse is ustelly run generally paralleling the bank

of the stream or lake shore., The line thus established ideantifies
a process called o

v of soil from the land of one

CwWil on the land of enother by the action of
the water, assuming no interference from other types of forces,
this process iz called »

An owner who holds 1
recognized to have the rights thereto,.

- d
increasaed resistance of the cuxve itself isg said to be -



48. The method of

Yo
e

P Py ~~ P
Yyt
L] e

)
R

~
S

47. Assusm
120% Wes
aiong
equal to

48, The gradual

Py
i
N

[

i

~ FanN P
- i
St ~ s

4G,

(&)

The vrismoidal fo 1
used to calculate voliumes of

mur walue of thesquare root

the corraction to the actual

£ place 15 40°, the longitude is
time 1s 12:00 Noon, then the angle measured
from the nadlir of an observer to zenith is

possession of land which is not owned is

encroachmant

formula and the average end area formulas, when
£ earthwors will

always give the same answer within an acceptable
margin of ervor

n amount known as the prismoidal
e

be used only as approzimationg for mest volume
calcuiations

always work out to give the desired answer in
cubic yards :
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50. 4 basic characteristic of the Lembert projection is that

{£) the projection for local maps always shows equdl

(D) the scale batween standard warallels is less

« +f 2 men i the shortest vertical plane mirror
in which he can see his full size? Give answer in inches,

foal
43

tn

52. Th Lstance on a circuler curve layout from the center point O to
i 8 al f

ides of an open traverse are shown. What is the deflection

5%, It is possible to proloag o straight line very precisely frow a
backsight by making the use of the process of .

353. VWihen an wpbicall system fai

1 ~L rays that are
d from a point cbject

i
¢ lmage point, or to a pre-

receive To a singl
scribed geometric position, we then have a condition called
<
aed to a transit which will reduce stadia readings

Ln
G
-]
P
£,
(1]
A

L (P
57. when takin

ieid
rawn on the kand p



&l,

o
g%}

63.

& hockey field was ©
was measured Uo cont
the standard, it was
true area of the fie
uniformly &

When Polaris

(&) 360° = 100
(3} 1000 miie
(€Y 0.9%2 =1 g
Dy 1,0 mils =
(2) 1.06° = 0,5

iz observed a
round the North Pole, it

e

FE R

)]

o

o

béghti

ine of the bea

(=3
ad
i

points,.

*

U's chain, and
:ha chain with

t. What is the
length to be
answer in acres.

opermost position in its orbi
o be at o
&l agency currently charged

er
States public lands that is
the interiocr?
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of particular concern

(D) astismapd

Z) curvature of field
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in this steresogram below, which point has the greatest paraliax?
% 3 . 3
e : a f
- - H
3y - ‘ - ./
{ s { ‘3 o
(C) 3 .
(D) & j o o?
(£} 5 o } T
- s &3
kf‘@ @
oy &r
0 &
s
| §
The nadly point on a 6% focal length photograph tilted 20° is
inches rvadial from the principal point.
Functions
PR 2Q°
(&) 2.035 inches
55 0V : - .
(B) 5.8 = ReeTa T SRR T . -
a - L05 - PR Js
(CY L&.30C # o - ften - 2.7474E

Ctn - 036397
- sec - 2.92380
- osc 1.08418

i

LEA I AR B ORIV I 1
o = I Do O
[an R ool o N SRV

§

N Gh & Oh Go

B3 b )
< ©
(ST an LN B L o B )

4 superwide angle photograph with & 3.5 inch focal length will
cover an area of square miles from a flying height of
20,000 feet,

{€) 57.5

(2} 87.5
The image made by a double convex lens used as a magnifier will be

(&) orojected

{(B) enlarged in rztio of object distance to

ra
imaze distince
{C} real
{D} iaverted

(E) wirtual
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A o ot e o mem e T e e -
{&) 45 designed for infrered pho
3) is usegble only for enalyiic

Caay Fam
) O
o

£ 5o T o ~ - v- b o o,
L&) 13 usaole only with opiical
Ik bme memmemd e T = e 2m
tms LRes gpeclegl use in sliie-int

ength zerial camars in
altitude of 3000 fest

LC007 iach,

IND OF

an airplene going

to keep image motion
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2 that is used for the layout of
natruction has a mathematical prop-
evation of the points along the
iicate hoo the construction is

rade verniers. Draw a

sh bCLWEEﬁ the direct
i the Tespective scales

5 nauis
sketcL of ezch to show the re!
ol identify each.

trh

Determine the value of each of the unknowns in the following set o
equacions:

5e2=3b=~C ==&
9 a+bh =3I C= 2
Ga+3+2C= 8
Problem B4 - We, f
& property boundary line in wooded countyy was found to run divectly

11
hat could not be cut., Dascribe, and draw a

or Eal =)

) e o
sketch of two methods that could be used to prolong the line and the
correct distance arcund and beyond the chstruction.

Describe what is meant by magnetic declination., What are three ways to
determine the value for a particular cbllty? Lf you are to resurvey an
old original line, how would you determine what the maznetic declination
was at the time the originzl survey was made?

gition of the 8% of the NE% of the
R 5 Show sufficient distances and
ate the parc el ccsc~,wudo What is the area of the pas

Soed



LA} UWnat is a deed, and what is itz primary purpose?
(b} What are the essential elements of a deed?

[ 1Ty AR S i . s -~ PO B )

V) Where and wioy are deeds recordad?

(dj

tion” and “variation' as they are applied

{z) witness corner
- .

{b) «c¢lesing cornar
a" i L e -
‘.C‘.) DRENTET CcoThners

& pavcel of land a r’gﬁt trigngle., The base is exactly
100.00 fszer “on¢e? than the altitud
o 1- %
Lne i

&, vhat i3 the length of the base
he parcel is 1000,00 feet?

Py

y

{
o
[y
pas
ol

of the per:reupr ]

T

1 arcel of land which is exactly square,
1 cres. What are the dimensions of the
d recommend? (Give answer to nearest 0.01 £t)

L]
L M
m

rade has a top width of
rline height of 30 feet.

iwough this £111 which is
20 fee: below the top of
i

5 8 tion will be 1%:l. What
£ vds b ated? The bottom of the tunnel
will be at the game level a&s the bottom of the existing fill.
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4 field survey crew is oyad ai a location where the extremes of
Lemperature may very Lrom -40°7 to +100°9F. The steel tape which is in
uga nes baen standardized at 53°F., What are the meximem BYTOTS, &X-
pressed &s ratios, that would be inducted by these extremes if corrections
for temperature were ignored?
Zroblem B1L . Wr 3
Wi,
& {a) The diagram shown below represents an inclined stadis
sig L L uetion for H and V in
tarm observed rod
int
1 {b) What
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The Zollowing equation ig not an identity as written. What is the &2
end value of the term that should be added to the right side of the
equatlon to make an idenuvitgy?
cosiéa + sec2“ = tan?é? + 7
s
Show sufficient caleulations to develop and support your answe ,

‘ne ground

£ survey line that is B37.71 feet long must be laid out ¢

iie tape to be used has been destermined to be 100,06 fee Long. What
is the tepad length that must be measured on the ground cu stale out
desired distance?

)

@

wha
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measured in the field as elevation

per cent grade.

“pe was 36" inside diameter, with a &%

Wnat is the elevation
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The following field notes are given for & road cross sectiond

tation Cress Section
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The width at road level is 24 feet, and side slopes are 2:1.
Wo,
1.5 {2} Compute the cross sscitional areas at each station in sg ft,
1.5 (b) Compute the volume by the average end area method in cu vyds.
fs=}
1.5 (¢) Compute the volume by the prismoidel method in cu yds.
1.5 (d) Dascribe why the results in {b) and {c) are the same, or
Hi

&
are not the same, as

T

o
o
b
3
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Probiem Cl - Wt. 10 (Required)

The plan shown below represents a newly designed land parcel. The found stakes
on the East side are of unknown origin. The adjoiners deed to the East reads:
E% SWy SWy, Section 36, T12S, R4&0W, SBM, excepting any portion in Clear Lake.
Your owner has the Wy of the same portion of the section.

REQUIRED:

Write the ‘correct title description for the land parcel shown.

N Fo % Cor
Co. Seorv, 2 ”é/;},'ae
_ CleorLofe
Jod’ | &
..... —= t{% Lage SHORE /S £y g o
g o Srarxe
N SAIE
N8 g
ot Y
\8 NEE 9058 %, 5{"‘
\é o &/0. 00" c@-«” ?0 . ‘fﬁ»co?,
-+ b 7
35|36 ] _ i
217
f P Fo Co
Serrv
Ao Co J&‘f’}f ' 2 g"/‘?/@&
2#@’3}:’9@ ?
Fré C/
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Problem C2 - Wt., 10 (Required)

You have completed a field measurement from point & (elev, 1950') to point B
(elev, 2050') with a tape which is .008! too long. The field temperature was
uniform at 82°F, and the measured distance was recorded as 2127.36!' {uncor-
rected). Standard temperature is 60°F, and tape.is 100! nominally.

The Lambert coordinates at point A for Zone II1 are:
x = 2,020,000 y = 351,963.81

The geodetic bearing from point A to point B is N792 50° O5%E,

REQUIRED:

Compute the correct Lambert coordinates for point B,

Problem €3 - Wt, 10 (Required)

Wt.
8 PART A - You have completed the field measurement of a base
line, and have recorded the following results:
2127.613 - 2127.601 2127.628
2127.585 2127.631 2127.579
2127.654 2127.641 2127.628
2127.586 2127.641 2127.627
Compute: (1) the most probable length
(2) the standard error
(3) the 40% error
1 PART B - What type errors are not accounted for in the solution
to Part & above?
1 PART. C « A random error of probable magnitude of .01' (plus or

minus) has 16 opportunities to occur. What is the prob-
able error from this source after the 16 measurements
are completed?
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Problem C4 - Wt, 10 (Optional) fﬁf7Q De 7 e
We.
9 PART A - Making use of an electronic distance measuring device, you

have determined the distance between point A (elev. 2421,67)
and point B to be 58,100.31', Due account was taken of the
usual corrections for temperature, barometric pressure, and
humidity,

The vertical angle from point A to point B was measured
as + 2° 27' 01" with a 13.

REQUIRED:

Compute the geodetic distance between points A and B,

1 PART B - What procedure would you use to improve upon the accuracy of
the data given in Part A?

Problem C5 - Wt. 10 (Optional)

The diagram below shows a part of a triangulation net. You have set up at
point A, and at point B, and have turned the angles that are given,

The distance from point D to point C is known to be 1000!,

REQUIRED:

What is the correct length of line AB? (to nearest 0.1 ft)

AoF Fo Scale




s - C
August 1966
Page 4 -

Vo

Problem C6 - Wt, 10 (Optional)

You have been assigned to stake a 600! parabolic vertical curve which has a
plus grade of 5%, and & minus grade of 3%. The elevation at the beginning is
250.00° (on the 5% grade approach),

REQUIRED:

Ht.
7 (a) What are the elevations on the curve at 100' intervels?
1.5 {(b) What is the elevation at the highest point on the curve?

1.5 (e) What is the station and plus at the highest point on the curve?

Problem C7 - Wt, 10 (Optional)

The area shown on the Figure C7 is to be mapped at a compilation scale of
1:1440 with a standard 5-diameter Kelsh plotter,*

REQUIRED: Plan gerial photography to provide stereoscopic coverage of the
project area, and

(&) draw the planned flight lines NEATLY on the figure (see instructions
below)

(b) on the figure show the necessary flight altitudes above sea level.
(You must support these altitudes with computations)

(c) specify horizontal and vertical tolerance for pesitioning actual
fiight lines

(d} specify type of camera and its focal length

(e} determine an estimate of photography cost if the price of each
exposure is $10.00 (not including travel costs to and from
project area)

*NOTE: Assume projection limits of 24 inches minimum and 33 inches
maximum, ‘

INSTRUCTIONS:

Detach the following map on Page 5 as your work sheet. Show your
work for Part B directly on this map. Include Page 5 as part of
your workbook when you have completed this problem.

Prob. C7 contd on next page
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Problem C7 contd
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Froblem DI - Wt. 15 <{(Required)

‘

PART A -« Wt, 6

PART

The coordinate data shown on Figure D1 is assumed to be correct, Where
would you set the lost corner marked MA#"? Compute the coordinates for
point VAY,

B~ Wt. 5

PART

Assume that you find the original monument position at M"A" to have coor-

dinates 5,206.3 N, and 26.1 W. Compute the correct hearing and distance

from the Northeast corner of Section 2 to. the South one-quarter corner of
Section 36. (Give distances to nearest 0.1 ft)

C"wtnq'

Assume that you find the original position at "A" to have coordinates as 7
previously noted in Part B (above). Assume that you also find rock mounds.

at ME" and *H".

What location would you accept, or where would you set the North one-quarter
corner to Section 1?7 This is generally assuming the usual original survey
conditions found in California.

Coording 7 es ore
grvern on 7ound /90/;773‘

ve

LG L/
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NOTE : Choose Problem D2 or D3 for 10 points,

W

Problem D2 - We, 10

You are set up at a point B, and have recorded the following data after observ-
ing the sun3

Time of observation: 3 hrs 22 min 30 sec P.M, (Standard Time)

Date: March 18, 1966
Temperature: 60°F
Barometer: 304

Latitude:s T 3209 45¢

Longitude: 117° 07¢
Vertical angle to center of sun: 30° 36'
(average of 6 shots)

REQUIRED:

Calculate the bearing from point B to the sun.

Problem D3 - W&, 10 (5 parts at 2 points each)

Show the limits of the owner's fee title rights for each of the following:

(Reproduce enough of each plot in your workbook to clarify each part.,)

/Gwn er
Lot/
o M ar /602 Mar /602
3o Filed |
g May, 1756y~ Meon High Tide
%gg /Wﬁﬁy /750 Jicﬂ{é? é; 53
30 Terne 196/ D Meon Hioh | 1 Ll
! “-//Ve%'q/e 4 T Mar 1602
N, - Mar /602 |
3y o f
Vo Owner
No A% ,
' § oSN FociFre Ocenp
E’ e S

Far7 A 3

. Prob. D3 contd on next page
Firg, D3
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Problem D3 {(contd)
Lor 3
Ave Hicn Waree.
&e 220/
/\/\;;,: 34?2 Ave Low Warcr.
Rep River(Havcabis)
lor 4o AE Jom Trarea Ioge ™
Lor /7 Mar 3422
Map 3422 : Ave then Warer,
CZUnéV‘ Zé#ﬁéf fo Y d
o7 Lonk os
Farr C colled #or
Deed mcludes
c? c27/7 ¢(~ /5%27 :
¥ fvER on e Mozru.
p Lot & b égr
Wb G —F /ﬂé& Lifed !§§‘(J
. 0
1944 R Faer [
¥e
1 ta
Y 2 Wik Woter |7
e e Low bioier 19/2

Mlafy Weiler /766

Now - Nawcasre Sresan,

a7 £

T e Loy Watar /565

— T High Weler /766
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NQTE: Choose Preblem D4 or D5 for 25 points, ’f} i

Problem D4 - Wb, 25

Write a discussion of the proration of excess or deficiency as used in land sur-
veying, Your discussion should include a review of when proration should be
used, and when it should not. The time allowed for this problem should permit
you t5 provide an organized discussion in your own words, and you are expected
to provide more than a bare outline, or a partial discussion on one phase of the
subject,

Grading will be based on your organization, understanding, and comprehensiveness
of your discussion., Your discussion should include primarily linear excess or
deficiency as related to public lands, subdivisions, metes and bounds, ete. Do
not attempt to include gecdesy, photogrammetry, or spherical relationships.
ldentified quotations are acceptable on a limited basis.

Problem D3 - Wi, 25 " (Answer all Sections)

SECTION A - Wk, 5

The following observations were made in the field:

ﬂ at Station BEAR ECC

To Station Direction Distance

Wolf ' 0°00°00" : 38,180°' (approx.)
Bear 139°51728" 10.93°

Cat 277°38'45% 40,120 {approx.)

REQUIRED: What are the directions from Bear to Wolf?
What are the directions from Bear to Cat?

BECTION B = Wt. 5

(Answer to nearest second)

Two premarked points, A and B, were photogfaphed on a pair of overlapping
aerial photographs at a scale of 1" = 1000!', The following observations
were made in the field:

7\ at B (H.I. = 5.21)

To Station Hejight of Target Vertical Angle
A 12.,3¢ : -5043127%

The distance betwzen A and B, as measured in the stereomodel formed by a
S-diameter direct projection plotter, was 16.26",

REQUIRED: What is the difference in elevation of points A and B? (Answer
to nearest 0.5 feet)

N

Prob, D5 contd on next page
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Problem D5 (contd)
SECTION C « Wt, 2
693 / SG4.2 . Immediately after scaling a stereomodel,
94; - the corner elevations were read as shown
&9 7 5L 7 in the diagram. Values are in feet, with
field valus above the line and photogram-
metric value below the line.
7/3.5 697
5.2 693.2

REQUIRED: VWhat are the numerical corrections necessarﬁ to arrive at the
best possible level solution?

SECTION D - Wt. 2

A micrometer depth gage was used to determine the principal distance of a
projector of a plotting instrument. The folliowing constants are given:

Node to vertex of lens « = = = = = = = =0 &« = = o - - 0.497%
Thickness of lens tissue (to protect lens) - - - - - 0.001"
Thickness of glass plate (to support gage) - - - - - 0,248"

REQUIRED: Determine the gape reading for a principal distance of
153.00 mm on the P.D. adjustment ring, for emulsion down
diapositives.

SECTION E - Wt. 3

Ten elevation readings were taken of a single point in a stereomodel,
with the following results:

76.5, 76.3, 76.5, 76.4, 76.7, 76.6, 76.5, 76.4, 76.8, 76.6

REQUIRED: What is the most probable value of the point, and what is the
standard deviation?

Prob, D5 contd on next page
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Problem D5 (contd)

SECTION F - We, 3

Ten separate points were read in a stereomodel and were later checked
in the field. The results were as follows:

Field Phtgrm,
97.1 97.2
115.5 115.2
110,.2 110.4
111.3 : 111.3
89.6 89.7
93.2 93.1
96.4 96.5
101.8 101.4
105.7 106.0
112.3 112.5

REQUIRED: What are the average error and the standard error of the
photogrammetric values?

SECTION G - Wt. 5

Aerial photography was teken at an altitude of about 13,000 feet above
sea level with & 6" focal length camera for use in a S5-diameter direct
projection plotter. Average terrain elevation was 10,000 feet above sea
level, and horizontal control was computed on the Californis Coordinate
System. The average grid scale factor in the preject area was 0.9999187.

REQUIRED: What is the theoretically correct model scale?

END OF PART D




